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al Expand the following binomials:

L (a+by 2. (2 +x)°
L ) 2 3

B +3a bi3ab + b A2 43X & ‘8D)<1+L%D)<7){- (OXlf +X i
3.(y+4) 4. (6+x)°

3
Yol +darSlex quox F4320X

1 b 5 ¢ 3
+2% +—5?)L( +2240 +gﬂw
. . J dJ J + 540 Xt 30X T

+21 50%1;23@7% FE3 84

SF ) 6. (x - 2y)

) 4 Bl apane 9
() i 5’(4@ HOX?’K L«\OXSJ’ +b/x~j({'ﬁ ~18x 5+ ity % b .

+7,ottox8‘* “fo'ﬁlxﬁ +5370 X"

~Up %X 3 v 23oA xjf‘»o@j

7. (—=x+4y) 8. (2m - 3q)°

.3

womb - —4320M
x_ -io K ij*’q{ﬂ)( ,Lioxj'ﬁ #2500 o1 dnit ~5Tl n’lf AL MZ Z
> 4—“(?(50.442 Vzﬁi ("MZ {f’izﬁz

9. Find the sum of the 12 row of Pascal’s Triangle.
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10. Name some patterns that are found in Pascal’s Triangle.




